If the clearances between each surface of
the brake disc and the brake caliper body
(5) (not the brake pads) are symmetrical,
follow next step.

If the clearances are not symmetrical,
loosen the left axle pinch bolts and pull
the left fork outward or push inward to
adjust the clearance. Then follow the next
step.

9. Tighten the axle pinch bolts on the right

10.

fork leg to specified torque:

22 N-m (2.2 kgf-m , 16 Ibf.ft)
Measure the clearance (6 ) between
each surface of the left brake disc and the
left brake caliper body (not the brake
pads) with a 0.7 mm (0.028 in) feeler
gauge ( 7 ) (see illustration).

)

(4) Brake disc
(5) Brake caliper body
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(6) Clearance
(7) Feeler gauge
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